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Consider the basic computer registers connected to a common bus system shown in 
Fig.(1). For each indicated micro-instruction, complete the following table: 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

  

 

Microinstruction 
 

Bus select Source
Register

Destination  
 

 

Memory 

S2 S1 S0 Name LD INR CLR Read Write 
AR       PC 0 1 0 PC AR 1 0 0 0 0 
PC        PC+1 0 1 0 PC PC 0 1 0 0 0 

IR        M[AR] 1 1 1 M IR 1 0 0 1 0 
AR       IR 1 0 1 IR AR 1 0 0 0 0 
DR      M[AR] 0 1 1 M DR 1 0 0 1 0 
TR       0 0 0 0 TR TR 0 0 1 0 0 
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